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PART A: Vocabulary |

| Directions: Choose the number of the answer choice that best completes the blank, Then,

| mark your answer sheet.
61- The Marketing Mix consists of the factors that can be ------—-- and used together to create
a desired response.
1) achieved 2) satisfied 3) executed 4) manipulated
62- Firms gain a competitive advantage when they have distinctive --——-——- or capabilities

that are stronger than those of the other competitors.
1) objectives 2) portfolios 3) competencies 4) diversities
63- The decision made by a company should be not only economically sound but also have a
strong --------- foundation.
1) ethical 2) illegal 3) respectful 4) defective
64- Oligopoly is a market structure in which a relatively small number of sellers, each

holding a/an --------- share of the market, compete in the market with many buyers,
1) efficient 2) regulatory 3) adversarial 4) substantial

65- The company left the country because the political policies ------—--- its goal of expansion.
1) hampered 2) promoted 3) embraced 4) augmented

66- One factor that makes it easy for U.S. firms to go global is the special --—--—-—— that
American products hold for customers around the world.
1) resource | 2) appeal 3) enterprise - 4) expectation

67- Price subsidy is government payments to producers that -------—-- the producer who sells
a product at a price lower than some set price level.
1) specify 2) reimburse 3) dedicate 4) facilitate

—F
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68- The effective salesperson anticipates what --—-----— are of concern and is prepared to
overcome them with additional information or persuasive arguments.
1) objections 2) investigations 3) specializations 4) operations

69- As people become more ------~--, so their purchasing power increases.
1) aesthetic 2) conscious 3) affluent *  4) visionary

70- Many retailers recognize the importance of using visual and other sensory cues to create
a store environment that reflects and -------—-- a desired image.
1) rises 2) enacts 3) perceives 4} perpetuates

Directions: Choose the number of the answer choice that best completes the blank in the

following passage. Then, mark your answer sheet.

Demand is the amount of a product customers are willing to buy at different prices. Price
elasticity of demand is the sensitivity of customers (71) ---------- . With elastic demand,
changes in price create large changes in demand (72) -------—- when demand is inelastic,
increases in price have little effect on demand so that total revenue increases. We then
learned that marketers often use break-even analysis and marginal analysis to help
(73) - on the price of the product. Sometimes marketers use reference pricing
strategies (74) ---------- one product is displayed next to another with (75) —-----
Reference pricing may result in assimilation or contrast effects.

71- 1) to changing price 2) for price changes

3) for changing prices 4) to changing prices
72- 1) however 2) therefore 3) while 4) in spite of
73- 1) decide 2) them for deciding  3) they decide 4) with decision
74- 1) in that 2) in which 3) in that they 4) that their
75- 1) a different price 2) price difference

3) pricing differently 4) differently priced
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PART C: Reading Comprehension

Directions: Read the following three passages and choose the number of the answer choice
that best answers each question. Then mark your answer sheet

76-

77-

78-

79-

Passage 1:

We will discuss the process of product adoption and the diffusion of innovations. Product
adoption is the process by which an individual begins to use a new product while the diffusion
of innovations is how a new product spreads through a population. The stages in the adoption
process are awareness, interest, evaluation, trial, adoption, and confirmation. Individuals may
be classified according to their readiness to adopt new products including innovators, early
adopters, early majority, late majority, and laggards. Five product characteristics that have an
important effect on how quickly (or if) a new product will be adopted by consumers are
relative advantage, compatibility, product complexity, trialability, and product observability.

Lastly, we will review the four-stage product life cycle (PLC) concept which helps explain
the diffusion of an innovation. The four stages of the product life cycle are the introduction
stage, the growth stage, and maturity stage, and the decline stage. Examples of the PLC
curves which are different from the classic PLC are the dreamer, the contagion curve, a fad
curve, or a redevelopment curve.

The concepts referred to in the passage ----—--——--,

1) are going to be described in detail later in the rest of the passage

2) have already been explained in detail in the parts preceding this excerpt

3) are said to be part of the process of product adoption and the diffusion of innovations

4) seem to include aspects that go beyond the scope of the text of which this passage is a
part '

All of the following are cited as stages in the adoption process EXCEPT —-——emeemv,

1) awareness 2) laggards 3) interest 4) evaluation

The basis for the classification of individuals in paragraph 1 is—-—-—-—-—.

1) product characteristics

2) speed at which they react to new things

3) their being ready to adopt new products :

4) the effect they think offered products have on their lives , -

Which of the following comes last in the PLC concept?

1) Maturity 2) Growth 3) Introduction 4) Decline
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80- The term “the dreamer” (paragraph 2) relates to --------—-—-.
1) the PLC curves 2) the classic PLC as a whole
3) product adoption 4) one stage in the classic PLC

Passage 2: .
Consumer purchasing decisions and buying behavior are influenced by many external factors

that include personal, social, and situational issues.

A. Personal [nfluences--The personal influences on consumers are important determinants of their
needs and wants.

1. Income--Of all the personal influences on consumer behavior, income is perhaps the most
significant to marketers.

2. Family Life-Cycle--A means of characterizing consumers within a family structure based on
different stages through which people pass as they grow older.

3. Lifestyle--The pattern of living that determines how people choose to spend their time,
money, and energy and that reflects their values, tastes, and preferences

B. Social Influences--Humans are social animals. In fact, our desire to "fit in" or to identify with
the Actions of individuals and groups we admire is often the primary motivation for many of
our purchasing decisions.

1. Culture--The learned values and patterns of behavior that stem from the shared meanings,
rituals, and traditions among the members of a society and that influence their attitudes,
beliefs, preferences, and priorities toward abstract ideas, activities, and products.

2. Subculture--A group within a society whose members share a distinctive set of beliefs,
characteristics, or common experiences.

3. Social Class--The overall rank or social standing of groups of people within a society
according to the value assigned to such factors as family background, education, occupation
and income.

4. Reference Groups--A set of people that a consumer is motivated to please or imitate and that
influence consumer purchasing to the extent that the purchase is conspicuous to others.

5. Influentials--Opinion Leader--A person who is frequently able to influence others’ attitude or
behavior by virtue of their active interest and expertise in one or more product categories.

81- The number of variables personal influences include is ----—-------,

1)2 2)3 3)4 : 4) more than 4 -
82- The word “which” in line 8 refers to ---—--——--.

1) means 2) consumers 3) stages 4) structures

83- Which one of the personal influences mentioned is the most significant?
1) Life style 2) Income 3) Family life-cycle  4) Needs and wants
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84- According to the passage, all of the following are true EXCEPT that -—--—--- .

85-

86-

87-

88-

89-

90-

1) the desire to act like those we praise is a real one

2) social factors affect purchasing decisions and buying behavior

3) humans have learned a lot of social behavior from observation of animals

4) there are people who can influence other people’s purchasing decisions and buying
behavior

The word “stem” in line 14 is closest in meaning to -—-—----,
1) shape 2) inherit 3) involve 4) originate
The part following this passage is most probably concerned with —------..,

1) some internal factors

2) situational issues

3) differences between personal and social influences
4) importance of external factors

This passage is written to --------—-,
1) suggest 2) criticize 3) alarm 4) inform
Passage 3:

The techniques of sales promotion are used both to motivate salespersons to improve their
performance and to cause consumers to purchase goods and services. Although sales
promotion works most closely with advertising, it is also related to other elements of
marketing: production services, packaging, price, and distribution. At the manufacturing and
wholesale levels of distribution, the methods used to motivate personnel to meet specific
goals usually fall into two categories—sales incentive prizes (such as merchandise, travel, or
cash awards) and sales contests. Both are based upon the salesperson reaching an objective
above the normal sales quota.

According to the passage, packaging is a /an--—-=--——,

1) purchase service 2) advertising channel

3) marketing element 4) sales promotion technique
The word “meet” in line 5 is closest in meaning to -—-----—-,

1) satisfy 2) orient 3) occur ' 4) apply
The word “ Both” in line 7 refers to -—-~=--——,

1) prizes

2) categories

3) merchandise, travel, or cash award

4) manufacturing and wholesale levels of distribution
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